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Pre-AP Precalculus
Chapter 6 Part 1 Test Review

Date

Study these questions along with your quiz to get a good feel for everything you need to be able to do.

1.

5cos(z + %) =

a) 5cosz b) 2.5mcosx c) —5sinz

d) 5tanz e) 1?Osinar:

b) 2cos(3z + §)
d) cos(3z) + sin(3z)
e) cos(3z) + +/3sin(3z)

tan(§ +z) =

cosz + sinx

a) b) cos2z

sinx — cosx
cotz+1
T cotw
1+ tanz
1 —tanzx

sin(2z)
cosx —sinz

<) d)

e)

If sinA = %, sin B = %, and angles A and B are
acute angles, what is the value of cos(A — B)?

Which expression is equivalent to
sin 42° cos 48° 4 cos 42° sin 48°7
a) 1 b) 0

c) sin6°  d) cos6°

The expression sin(90° — 8) is equivalent to

a) cosf b) siné c) —cos® d) —sinf
If sinA = %, tan B = %, and A and B are
first quadrant angles, what is the value of

sin(4A + B)?

6 33 3 63
If sin® = cos6, in which quadrants may angle 6
terminate?

a) [II  b)ILII ¢) LU d) LIV

Which is a value of z if sin60° = cos(z + 10°)?

10.

11.

12.

13.

14.

15.

16.

17.

cos 70° cos 40° — sin 70°sin 40° is equivalent to

b) cos70°
d) sin70°

a) cos30°
c) cos110°

sin 96° cos 24° + cos 96°sin 24° is equivalent to

a) sin60°
c) cos60°

b) — sin 60°
d) —cos60°

The expression sin(180° 4 A) is equivalent to

a) cos A b) sin A c) —cosA d) —sinA
What is the wvalue of

sin 210° cos 30° — cos 210° sin 30°7?

a) 1 b) ~1

c) 0 d) 180

Since sin 75° = sin(30° + 45°), then sin 75° equals
V6 -2 —v6++/2
a) ———— b) ——
4 4
-2 -6 V2+/6

If cos(2z — 1)° = sin(3z + 6)°, then the value of =
is

a) —7 b) 17 c) 35 d) 71

If sin(z + 20°) = cosz, the value of z is

a) 35° b) 45° c) 55° d) 70°
IftanA = % and tan B = -12-, what is the value of
tan (A + B)?

a) g b) § ¢) d) i
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For all values of x for which the expressions are defined, secxz — tanx is equivalent to

a) 1 b) cosz — cotx

sin? z + cos? z

The expression is equivalent to

sin x

a) cscx b) secz

The expression cosy(cscy — secy) is equivalent to

a) coty —1 b) tany — 1

The expression (cot ) (sec ) is equivalent to

a) tand b) cos6

0
For all value of 6 for which the expression is defined, i

a) sind b) cos
1—sin” A
The expression ——— is equivalent to
2cos A
sin A cos A

a) 5 b) 5

2

1—sinz cosz —sin“ x
c) ——— ) ——— =
cosx sinx cos
¢) sinzcotx d) sinzcosz cot
¢) 1—tany d) —cosy
c) cotd d) cscl

is equivalent to

scd
c) tané d) cotd
c) cos3A d) 2cos A

For all values of x for which the expression is defined, secx - cscx - cosx is equivalent to

a) tanz b) sinz

1 d) 1

sinx CcoS T

¢)



10.

11.

12.

13.

The expression sec? 6 + csc? @ is equivalent to

1
a) 1—tan?0 b) 1+ tan?6 c

102

The expression + cos B is equivalent to

1 1
1 b
2) ) cos B °) sec B
The expression cos f(sec — cos0) is equivalent to
a) 1 b) sinf c) sin’@

Expressed in the simplest form, csc-tanf - cos@ is equivalent to

a) 1 b) sin6 c) cosf

The expression sind (cot — csch) is equivalent to

a) cosf —sin6 b) 2cosf c) —sinf
. sinz ecosx . .
The expression ———— is equivalent to
tanx
a) 1 b) sin?z c) cosz

Verify each identity.

14.

1 1

— = 2cscfcot
1—cosf 1+ cosb esetieo

sin? 6 cos? 0

sin? 0 cos? 0

sin? B

—cos20

tan 6

cosf —1

CoS™
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Answer List

10.
13.

C

Catalog List

1.
4.
7.

10.
13.

NY1 HE 8

NY1 HE 38
NY1 HE 109
NY1 HE 213
NY1 HE 313
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